122 FEEHLIHBRABEE S 2R S AFESIEL —BX B3
= WE | H4E | S Bk | SREL | SREN | SREUE o | AL
RO AL s SO | S | v | | A A | e | mom | FUF | xw
101 [INBIRESCEE % —4 2 3 0[ 13 75.00( 0.00%

102 | N2 A —4E 5 1 1 79.48| 20.00% 1
103 |EE&ENEA —edE 3 3 1| B2 85.60| 33.33%
104 |cESBHR%AT —f%4E 2 2 0| &2 70.00] 0.00%
105 | FEE2MFTFT —f%4E 3 1 1 81.88| 33.33%
106 | HEEBIHTCAT riER 0 1 0 &kl -
201 |WrEEERZ ~ RCYIEERRSTAT B e B | = (PS84 —fE | 7 14 1 6 BT - 85.71%
201A upsis —f%E 4 3 79.38

201B YR —4 6 3 78.41

201C P& —f&4E 1 0 78.41

201D & A3 —4 3 11 0 - -
202 |[{E2 A {E24H —R%E 11 15 1l 4 4| #r6 90.00| 72.73%
203 [{E2% (BB YR —f%4E 3 3 1| B2 90.00| 33.33%
204 |RiEEBIK AR EEIE M2 2R —R%4 4 1 1 81.51| 25.00%
401 |FERBEERTTAT —f4E 4 1 1 87.10| 25.00%
402 |EYUERE S TV —fE 3 5 2| &3 70.00| 66.67%
404 |BEFEERRRTEFT —4 3 2 AL 82.30] 100.00%
405 |BEFEERRTTFT R 0 1 0 %1

406 [T —fE 0 1 0 ##1

407 [JREREWTERT FriER 0 1 0 1 - -
408 |TRAEYERIRZE AT —fE 2 4 0| f4 70.00{ 0.00%
409 | R AR A4 V) 2R ST T —%4 0 2 0| &2 - -
410 |fRE R AR A4 V)R FT T FiER 0 1 0 &kl

411 |EHEHEHRTR —fE 0 1 0 ##1 - -
412 |BEEMRET ERRAE 1 1 1 89.40( 100.00%
413 |y BT —4 5 5 3| 2 80.00| 60.00%
414 | BriER 0 1 0| ##1

FI9H




11228 F IR A A 2R 2 & 2P B — 8 B3
e W% | A | ISR (5] BN | SN | AR | .o |
R A il S| o | s | e om m am e | mam | | A
415 |IEERRFERT —f&4 1 2 1| &1 82.42| 100.00%
416 |EREEE O REZEHIEAT —R%4 4 2 2 88.15| 50.00% 1
17 | R G | 1 1 ] 36.52] 100.00%
418 |BEE R R G wee| o 1 o m| - -
19[S SR G | 4 1 I 423 5000 | 1
501 | = ARTHEEA —f%4 5 8 5| #Bk3 100.00%
S01A T e I -
501B Z >~ ERET R — 4 1 1 89.34( 100.00%
501C A ~ EiSEIE T2 — 4 1 1 86.20| 100.00%
501D T kAT S I :
SO0IE X mLE w0 -
501F C O HERZEMER | —8B4E 1 1 92.76| 100.00%
501G B~ EETREESE | —i%4 1 1 88.50] 100.00%
501H FEATEETREER| —K&4E 1 1 89.63| 100.00%
502 | EARTHEEZ A 4 3 41 E1 - 100.00%
5024 T e :
S02B 7 TR ERE] 0 :
502C A~ BiSETE A 1 1 90.10] 100.00%
502D T KRR ERE | 0 :
502E X~ REITE L 1 1 80.70( 100.00%
SO2F T HIRRAEER | BE] 0 :
502G B BETEEEE | e 2 ; 86.10] 100.00%
SOH 3\ RS TR el | 0 :
503 |4 T EEE A —R% 4 7 22 3 4 | 815 70.00 57.14%
503A H ~ &) —f&E 0 -
503B Z -~ 5%5 —f%4 1 1 0 0.00%
503C A~ B —f%4 2 2 100.00%
503D T~ 85 —{&E 2 2 100.00%
503E X~ ZIE —f%4 2 2 0 0.00%
504 |HERR TAEEE £ e e 0 1 HH1 =

F10H




122 FEEHLIHBRABEE S 2R S AFESIEL —BX B3
= WE | H4E | S Bk | SREL | SREN | SREUE o | AL
RO AL s SO | S | v | | A A | e | mom | FUF | xw
504A B~ @& R 0
504B 7. - e ERE 0
504C A ~ B R 0
504D T~ 858 ERRE 0
504E K~ B TERE 0 -

505 ({EEETEZEZ —fE 4 10 1 1] #:8 80.00| 50.00%

506 |{EEBTEEZ 1ERRAE 1 1 0| #r1 80.00] 0.00%

507 | TRERMRRFFETIEE A —4 4 7 2| RS 70.00| 50.00%

508 |FERH JIZBHAFEFR —&E 3 3 3 87.34| 100.00%

509 |FeA ISR ERRAE 0 1 0 &l - -

510 [BETEZEA —%4E 13 10 10 81.76| 76.92% 1
511 |TETEEWRAELNE — M 1 2 0| 2 70.00/ 0.00%

512 &y RS TR AT —fE 0 3 0 #13 - -

513 |Esr FRIEEHE TR AT ERRE 1 1 1 85.56| 100.00%

601 |[BFELEA —4E 3 2 2 84.80| 66.67% 1
602 |ENYIRIEEITE A —f4E 1 1 1 84.00| 100.00%

603 [BELEEZ —f4E 2 1 1 81.52| 50.00% 1
604 |BFELEEL FriER 0 1 0 1 - -

605 [BELEE# A 4 1 1 88.84| 25.00% 2
606 |EREEEE 2, — 1 3 1| &2 70.00| 100.00%

607 |BREEZE 2 FERE 0 1 0 &t1 - -

608 |EREREE A —f%4E 1 1 1 78.95| 100.00%

609 |fEYE YIS A —f%E 0 2 0| &2 - -

610 |EVIRETCFT —f4E 1 2 0| %12 80.00| 0.00%

701 |24 —f4E 2 1 1 84.50| 50.00%

801 |FRIZEARGERFERIEWTET —f4 3 4 2| &2 80.00| 66.67%

802 |fEEEBUREE ST R GRET B EES) | —4E 6 2 1| &1 88.00| 16.67%
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1122 G PIBNIE ER O RIS Z S 2 FTeHSRAUE i — R P23

= W% | B4 | ZE (B $REL | #REL | SREUR o | AL
R il i SRy | s | e am o s | see | mae | FF |
803 |fERE BURELE M ZEH(REBUOREEE | —f4E 14 4 S5A  83.68] 35.71%

804 |fTIR=E BT B A ZE P BFHEBRITRS) | —&4%E 4 2 2 87.92| 50.00% 1
805 |ITIREELTR I B 22 7R P ZI(EBEYBRS | —fE 5 2 2 90.00( 40.00%

806 |MfTim=E B TH B A ZE P REFEEFEES) | K& 8 2 2 85.38| 25.00% 1
901 |EHETEEA FeH(EEEEZER) | —RE 3 4 2| &2 78.25| 66.67%

902 |ERTIEEZ ZUE(EEBHAGRENET)| —H54 4 2 2 90.00| 50.00%

903 |EBMETIZEA REEE B EERER) | —K4E 8 7 5| &2 85.00| 62.50%

004 |EBHETIZRE A = Glik e ! — M 0 2 0| &2 - -

05 [ERTIEZEZR —fAE 10 10 8| 2 84.32| 80.00%

906 |ERTIZEZ TERE 1 3 0| %3 8432 0.00%

907 |JETIEEHZCFT —fE 2 8 2| Br6 80.00| 100.00%

908 |YEEETFEEWIFRRT TERRAE 0 3 0 83 - -

909 |E(S THEESRT EEH(EBER) — A 2 3 1 1] ##1 85.00( 50.00%

910 |ES TR ZE(FBEAEETE | —E 2 3 2| @1 60.00| 100.00%

011 |EBfE TAZERIHZTT REE(EEERREE | —K4E 2 2 2 80.00| 100.00%

012 |EFTeewmxm i MEERStRanLErerRE | (R EFE S8 —f% 4 1 7 1 &6 80.00! 100.00%

912A BT TR | — K4 2

912B mEERstRas et erRd | —I%4E 5 1

013 |BEFTREEMFEFRZ4 BEEKRLHEaE | RERERAHE | —BE| 2 4 1 | ##3 90.00( 50.00%

913A BT TIEEWMERIHE| —KE 2

013B R ERS T EE LRI EEZH —ﬁ&ﬁg 2 1

014 |ERAIEE L2 B RERAZEFT —f%E 11 7 6| #R1 83.00| 54.55%

015 |4 B FEEREHIFTT FHEBEEEF) | —K4E 0 5 0| kS - -

916 |£BETHENEHT ZH(FBEBENR) | —B4E 6 4 4 86.22| 66.67% 1
017 |&RIFIEB LA ERE — 7 3 3 87.50| 42.86% 1
B0l |&dfies - EWRERZER - EYEYREEMRE (=27 - E2RBSEE | —ik4E 3 5 1| &4 - 33.33%

BO1A £ PR £ —4 3 1 83.81

B12HE




11282 F RSB EE RIS SRS IUE L —8R B3
[GES WY | {HE | S 1Bk | SR | SREL | SREUEX o | FHEY
R A 4l SO | S | v | e | A e | move | BT | aw
BO1B HEYIRHERH ST — 1 80.00
BOIC RS RS atee | L4 1 80.00
B02 |4=uflEE % FriER 0 1 0 Bkl - -
B03 |4£E{bRIEE % —f% 4 5 4 1 1 2 77.03| 60.00%
B04 |5 T BE4HA A YRR 22 —f% 4 1 1 ] 85.00 100.00%
BOS |4 RREBREE LA VIR SE T — A 0 1 0 1 - -
B06 |4ERREEDE{LAEYIERMAST BriER 0 1 0| #R1 - -
BO7 |fasgRlEmzerT —f 1 1 1 88.78] 100.00%
B08 |4:(ERIERLFTFT — %4 2 5 2| B3 81.80| 100.00%
B09 |&EACFIEAT T BriER 0 1 0| #R1 - -
BI0 |ERBEHAGEYEHIEAER —4 2 4 2| B2 78.52| 100.00%
KOl |TefEprkl B R B S22 —fE 1 6 40 1 0| f&k1 85.00| 100.00%
K02 |ZoR TAZEER| 2 -2y BB — M 0 5 0] kS5 - -
11284 FEFE60 4 Fii 12| 294 11| 13| 124|8:146 56.61% 12
BS54 246| 265 6l 6| 121|Hr132 51.63% 11
aE— ¢ REEDMEREUERFTRE > HLERHUIERNAE8244 ~ FFENETH ~ BREHS54% -

P IREE BT RSB IR ERS AP SRR -
HAMITEHERBELEII0H AR -

BI3E




